O6paseu onNA camonpoBepKK

BapunaHT 1

1) 9+8=17
2) 7+5=12
3) 33-6=27
4) 53 - 8 = 45

O6paseu oNA camonpoBepKy

BapuaHT 2

1) 7+9=16
2) 34-5=29
3) 42-4=38
4) 8+6=14

OG6pasey ona camonpoBepKU

BapunaHT 1

1) 9+8=17
2) 7+5=12
3) 33-6=27
4) 53 - 8 = 45

OG6pasey ona camonpoBepKu

BapuaHT 2

5 7+9=16
6) 34-5=29
7) 42-4=38
8 8+6=14

OOGpa3seu Ans camonpoBepKU

BapuaHT 1

1) 9+8=17
2) 7+5=12
3) 33-6=27
4) 53-8=45

OOGpa3seu Ans camonpoBepKu

BapuaHT 2

9) 7+9=16
10) 34-5=29
11) 42-4=38
12) 8+6=14







